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B 4bRE%%:0014093 Aa4m:0 55+
(C ) 116, ZRAGIRALP % bt 28 pr BT ?
(Mm# 5, 2SR %k BERAR, REXERIN ¥R (OR%EZ AR, # X%
5 RB A
B4 R8%9%:0014094 a0 £ 5 E: 5
(B ) 1T ZRIGIR AL 4 thhofTIRALL R
(MD#mmsayZ R EANREHR BB EREIABKBHEIEBRIKEHE (OBFEZREAN
B RE B SRR
B4 R8%95:0014095 =a4:0 £ 5 E: P
(B ) 118, FIMTHERA R A S A AN RFIKFEARBE?
MZzamEzEX B)AaBEEN (OXEXALE
R4 A855:0014096 A0 ¥ 5 & ¥
(A ) 19 FOMTAEAE BRIEH A S R IEH BN 2L M AR, RALHRBF?
MERXEERKX B) KB EmBER (ORBE, 2REARKBRE
R :0014097 A0 35 % P
(B ) 120 858 & ix A vy & Ak B AT?
(M#nee (B)#ide (C) & & 4béy
R :0014098 w0 35 % P
(B ) 1214843 E b b &y T AR A5 M B 4]
(Mg EeE B)BEMERARAK, TrRERREZNG (O EihrE A e TRARER
& E
B 4b7E%%:0014099 A0 5 E:
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() 122 FAMTH A ¥ Foshsa Tobw) TR
Mgk (B ékireymet 88 (COMMBLER, B, BT R EIFBRIER
B 4bRE%%:0014100 Aa40:0 5 E:
(C ) 1B MEABGKARAS G B &Y B2
(B FiRsh R @R (B RRETBRZ R TIREMRGEH KB (CO)AFBELIE
T R E B I B AT &Y 43 B R A2 #,
B 4b7E%%:0014101 AEa4m:0 5 5+
(C )14 ERALBME BB RETFETZB )BT
(D #rritsr B)#%#E OFRELTERETE
B 4bRE%%:0014102 Aa4m:0 5 5+
(C ) 125 fTEBARTR?
NMaEnRanrEmisraER B RFEEER M #ESMEGBNER (O m
BT, EAWME O KA AE A ZER
B 4bRE%%:0014103 Aa4m:0 5 5+
(B ) 126 TR Tue AT RE?
M@ TR ARG E BE#EAMARLSNGE (OBTEAERERIEHEERE
A
B4 Ra9%:0014104 E4:0 £ 5 E: 5
(A) 121. BRATHT R/ER BT
MR NHMEZEREAGEZEH B b 7S EH (OFEs) B EhiF
B, BB TIEH L ERIEREE
B4 R8%95:0014105 =E4:0 £ 5 E: P
(c ) 12848 115 volts, 400-Hz AC &491& 2k AfT?
MDTEREASXG TR, G5 2MAEE B)RENSERIERS TR, RI1EH K
e (Ofapwms2DCHEMLL, HTRGACHZE B
B 4b7E%%:0014106 Aa4m:0 5 E:

(B ) 129, A feiedk KA MR ERATEAM M ATA 69 & BRAER?
(A& % ERKXE (Bt g KICMBEEERE (O £ ERBEERMREBABE

B46R85% 0014107 Ra4n:0 5K 5
(B ) 130, etk Ley T Reh TR TR LEL?
(A)Corona threshold. (B)Saint Elmo’ s fire. (C)Precipitation static.
B 4b7E%2:0014108 #a4:0 5 & 5

(c ) 131 ek Ehénh A 45 amperesiZ2.5 hours, “#HE %A %/ amperes- hours rating?
(A)90. 0 ampere-hour. (B)18.0 ampere-hour. (C)112.5 ampere-hour.

R utA85%:0014109 =84:0 5 % 5

(C ) 132 RKEIFTERBRH B EH A AT
(A)volts. (B)watts. (C)amperes.

B4R %2:0014110 #E40:0 52 5
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(A ) I BN RELOTERA TEIR S B EXHAE, T ITH EH~?
(MDFREAeBREEEER BERAEAAETRAMNER (O)RERAEGYFALRN
KL
BisRa5%:0014111 =E4@:0 £ 52 5
(A ) 134 BRATHTR/ER BT
(M#aaA R (B3RS (O/KErmey T4
B4R %2:0014112 a0 52 5

(B ) 135 BB B B 42
(AM)Watts at rated voltage. (B)Amperes at rated voltage. (C) Voltage at rated
amperes.

B4 Ra5%:0014113 =a4:0 £ 5 E: 5
(B ) 136 AAT AR TAEBE L BAT?
(A)Volts. (B) Watts. (C)Amperes.
B4 RE%2:0014114 A0 55+
(B ) 13T R ABRASKETE B YHEE BT
(MigtmtmeEndRk B)rtEmustEnar OBLERAERES
B 4bRE%%:0014115 Aa4m:0 5 E: F
(A ) 138, IRAS THIEH B IRE B FT?
(MEfta, R#ARABE (B)RE, 28 %E, FHIEH (O EH RR, BRI &SBR S
B & i B
B4R %%:0014116 Aa4m:0 5 E:
(B ) 139 FATEAHE R A 945 A7
(M EREFETHRIERER BEX —HTRALFEAGH»TERTAEER (O)B1E
B TARTE AR T A H R oY BB Bk
B4 Ra5%:0014117 %40 £ 5 E: 5

(A ) 140, % R ER B o sh e BAT?
(M# 115 volts AC, 400-Hz #4a 7 28 volts DC. (B)#% DC # 4 26 volts =
115 volts 400-Hz AC (O)# A A EHLRELLERITEERARBELTE

B4b78%%:0014118 #a4:0 5 & 5
(C) UM, —FTEATLAYRBTLELT AERERESL S V?
(A) 12 volts. (B) 20 volts. (C)25 volts.
B4R %%:0014119 Aa4m:0 5 5+

(B ) 142 BAT4a4aE L AR IR AR ERAE?
MWEETmEwrE BHERELEHRAEER % (CO)BMIME L 648 8 R ki

EHMEE

JR 46 72%%:0014120 #840:0 $ 5 H: F

(C) M3 ATHEFHAEHT TR REHE
(M&E BRXREBRRHKE (ORRAE

B4bRE%2:001412]1 AEa4m:0 55+
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(C ) 14 RABEHNIE RIS B B2
(MDiE#lueniaE BRAEEERER (ORFECHER
B4t RE%2:0014122 a0 52 5
(B ) 145 #8F & (frequency meter) H#Ei5 wITHEER?
(A3 % N(2) 457 (B)#E# RPM. (O k12 S ey Ak
478550014123 a0 5 E: 5
(¢ ) 146, ARG IRBTHEE B BAT7
(A) Volts. (B)Kilowatts (KW). (C)Kilovolt-amps (KVA).
B4R 5%:0014124 Aa4:0 5 E:

(B ) 147 8% X RA % (rotary inverter)#&)shfc & 477
(M)# 115 volts ac #8244 28 voltsde. (B)#§ DC #& % 115 volts 400-Hz &4 (C)
# 26/29 volts DC % & A& 115/200 volts DC.

BisRa5%:0014125 aw:0 £ 5 E: 5
(C ) 148 ROR4E B WYh e BAT?
(Dt % X EETHEEs S —EEeH BREGERIERAYEAFH G (OF
BEROTERBNE T REF, FEHEHAME X ERIEE®R
R :0014126 Am:0 35 /% 5
(B ) 149, NEAECANLBEEALLTAERLTRESL S V?
(A) 6 volts. (B) 12 volts. (C)24 volts.
R4sA855:0014127 A0 ¥ 5 B 5
(A ) 150, Rtk 85 2 sTrs4 ( fusible plugs ) &M R# %7
(MD#hpsiRat (B)i@EER (C)AMBARIEIE B
B4 Ra5%:0014128 a4:0 £ 5 E: 5
(B ) 15l AR EEH mATh @ JE18?
(M2 Py Eia B)uadaitb i EEE S (C) b MR ho bk 48
R 0014129 Am:0 35 /% 5
(C ) 152 W RABE G RATI @ EIR?
(M@t Eia B)adatt P EEE S (C) b MR ho bk 48
R4sA855:0014130 A0 ¥ 5 & ¥
(¢ ) 153, % B A e A s (chines) J&E B AMT R ?
(DEE#mpeRfl (B)RAssenal (C)R k8 ah sMal
R4sA855:0014131 A0 ¥ 5 & ¥

(¢ ) 154, #5P5 £ ey A s (chines) &) o #E B AT?
(D3 HERMABRE LIt (B)mD &miE Loy KER K OBBARBEE
a3 ¥R

R utA85%:0014132 840 £ 5 5 5

(¢ ) 155 FHMTHE A RZFA KT EZIERE?
(WAER BHE (OsMalR

R utA85%:0014133 84:0 5 % 5
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(B ) 156 FIMTH ARIB AL T —RIEH &@?
MDFmie B)EmRAE (OMfaa R
B4R %2:0014134 a0 52 5
(C ) 157, % ERME DB E N, FFEAE L&A R dofTE1E?
MRE® (BRE (OFFE 2 E
B 4b78%5%:0014135 #a4:0 # 5 E: 5

(A ) 158, BBAZIRAF B2 H a5 8 o & By 472
(A) BROLLAGT B EREnLEL AL (OEREmALFLSER
'F

B4R %2:0014136 a0 52 5

(A ) 159, M B A48 B ey 4k A B 42
(DA 2B, B EZRREWT, RN (O£ZHAFTI] RREBHK
2tF

JR46A85%:0014137 #84a:0 5 H: 5

(B ) 160, MATIRFARGIER BAT?
(M mEZEZ gt B AERAREMWT, &V AN (O£ &2 AR ET] fREBE
Atrxn

B4 Ra9%:0014138 =a4:0 £ 5 E: 5
(A ) 161, @B RARGVE R BAT?
(MDZrErR b #EAS B #HeEE (ORZRRW T, 8o FHER
R Ra5%:0014139 a0 £ 5 2 P
(A ) 162 ¥ H EeyiBre & 4 BegtE A AAT?
MBEERFBEZRAE BORSEABHZRESEN SR FIE28A (O
Bris B ey R, B RARIEE R kik
B4 R8%95:0014140 =a4m:0 5 E: P
(A ) 163 M E EayiBie & A B A fTE 87
(AR PR A a3 (B) SRy FAMABEEN 0 (OB RSEZ ARG
R Emz ER
B4 Ra%95:0014141 =E4:0 £ 5 E: P
(A ) 164 EKFREFFAGARZXELATAERLL L H X R AITEEY
M&E&#RE B)ERMEERR (OFERRYT GRRKFREILAMEERER, &R
LAEEL £
B4 A855:0014142 a0 $£5E: 5
(C ) 165K FREFFARAXEATARLL Y H X &I AITIEL?
MRsgE g B)Rpwmsgd (OKFREZEBHAKELER
B4 Ra9%:0014143 =a4:0 £ 5 E: 5
(B ) 166 RERAKTHE THBAFHE LR RLfTR B?
(DR ER A (B)i@ s 45 (C)mBRR A 4L RRB R A

JR 46 72%%:0014144 #548:0 $ 5 H . F
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(B ) 167. Skydrol G R & ) 44948 Bk A4 ?
(Mretikimd BB E&EERE (O@Bami b RRE bEs
B4t RE%%:0014145 A0 55+

( ¢ ) 168, Skydrol (i /R ity ) &4 4~ B 2 472
MfiomAataras B EBEEAE 40°CATIHE (OB LLETRANELSL

B 4bRE%%:0014146 A0 55+
CA ) 169, REMIE T F@BAER A
(DF@raEY B)iEHA BRI RE S EFBERFE (OBIRAES] ¥ 20ER
B ELHE, AR MBI DEREHT A HAY
B4 Ra5%:0014147 w0 5 E: 5
(C ) 170, ZRB i RIEEAE PR IF R /TR E?
MiEREEFT B RAREEKMURTE (COORKTRIEEE
R46A8:0014148 A0 %5 % 5
(B ) 171, ke fa R & J§ £ ok & i (Skydrol )?
MzEE Breesk (OZ&ATH
BR46AEH:0014149 A0 $ 5 & ¥
CA ) 172 RBEERE BSASER B1T?
(MDAamBTHAERRES BELRZREE (OB HRERBEHEITILE R
R I HEE AR
B4R %2:0014150 a0 52 5
CA ) I3 RBEER S B ATHE AL 887
Maf Bza (O=aibw
R46A8:0014151 A0 %5 % 5
(C ) 174, RBAZRRR 4 69 1E A R 22 B 477
MH#E B)E ORE
B4R 0014152 A0 # 5K 5
(B ) 175 e BRI B AL g ey B & B fT7
(MDRBERARAR B)ERLSE T EBERGRBHIEEH R EHBEEE (COER
Je e A A BGHERR b A A MR kR
B 4bRE%%:0014153 a0 5 E: 5
(C ) 176, BAT SRR ihiBIE?
(MR RaNeKTaRE K (B)AESREQRGRB LA AEGRE HEAD (0)iF
T VT fe ik Rk 3 RAAL B B E RN LR
B 4bRE%%:0014154 A0 5 E: F
(A ) 177 FEKX LR 35 H T4 257
(MDA R SeaaH D BEXERZE BRI R (O R S5
VX o G B Y]

JRutA85%:0014155 =848:0 $£ 5
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(C ) I8 BREBRZS P EEFWFELMAMTRR?
(AMEFMATERE (B)EAMAMMREEES (C1F LM AREERS
B 4bRE%%:0014156 Aa4m:0 5 E:
CA ) 179, RBAR I $k 091F A R 2 B A7
(DB amsg B L4 (ORH EH
B4R 5%:0014157 #2400 5 E:
(B ) 180, RERE S ZAER AiT?
(MDERGrEH B)RINFBGEZRA (OGEVERAZALAEZRES
B4R %5%:0014158 Aa4n:0 5 E:
(C ) 18I fTAERBE K E® ¥ ¢+ A" %5 1F(double-acting) R P4 1L B 8y 5" 7
M&E BRe%EE (OBHERMFARS
B 4bRE%%:0014159 A0 55+
(C ) 182 BATAMBRRGLIBGFRERTRESB?
(MHx#E#HEER BwwmrARF (OFREMFE
B 4b7E%5%:0014160 #240:0 5 E:
(B ) 183 fTAE3k3t a3 B X R B M R TUAG WL R A7
(Mg BTEEHEEH Otz T8
B4R %5%:0014161 #a4m:0 5 E:
(B ) 1A HHELZELA LTS &R A2
(MR R (B)#meFTaE%ki (C)FRAE BB GBI T
B 4bRE%%:0014162 A0 5 E:
(A ) 185 3] B Bed) X R B b R4 fTHEG R A?
MzrsFar BErzEHE (OFBFHTEILD
B4R %2:0014163 a0 5 E: 5
(A D 186, Ry A 4T 09 ERT AR BT
(MEE B)SBEFWBRE, BEEEE (OFGFTRABRTHREEREHERE
7K
B 4b7E%2:0014164 a0 5 E: 5
(A ) BT RERBALMARBFTHALATHERE?
Maa Bza (O)=%aib=
Bt A3k 0014165 Mm:0 #5 % 5
(C ) 188 AEE MWK B R SR ERBERERKE?
(A) Uplock switch. (B)Downlock switch. (C)Ground safety switch.
Bk A3 0014166 Mm:0 ¥ 5% 5
(A ) 189, etk £ ¥ Ex Trs4 ( fusible plugs ) A &AT?
(A fsups il (Bt asts (OREHFAANET A

B 4bRE%%:0014167 A0 5 E: P
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(B ) 190, X8y ¥ — s AIERIEEm M A, B EF?
(A FA B R nAs B2, 15 358 b oy 8B BOS IR, 4o b 7T 8 %8505 B 508 M A R
Bk (B)#is 2 3Bk B oy 48 Busiisit, SR i s (OB 5 BE %
B b o8 R BIAL, 15 A BB VR AL, 4o db T 8 ik B 24

B4R %2:0013977 a0 5 E: 5

( B ) 191.The emergency lights on a passenger-carrying airplane must be armed or turned
on during
(A)taxing, takeoff, cruise, and landing. (B)taxing, takeoff, and landing.
(C)taxing, cruise, and landing.

B 4b7E%2:0013978 a0 #5E: 5

(A ) 192 If a passenger-carring landplane is required to have an automatic deploying
escape slide system, when must this system be armed?
(A)For taxi, takeoff, and landing. (B)Only for takeoff,and landing. (C)During
taxi, takeoff, landing, and after ditching.

B 4b7E%2:0013979 a0 #5E: 5

(B ) 193.When may two persons share one approved safety belt in a lounge seat?
(A)When one is an adult and one is a child under 3 years of age. (B)Only during
the en route flight. (C)During all operations except the takeoff and landing
portion of a flight.

B 4bRE%%:0013980 Aa4m:0 5 E:

(B ) 194.An air carrier airplane must have an operating public address system if it
(A)has a seating capacity of 19 passengers. (B)has a seating capacity for more
than 19 passengers. (C)weights more than 12,500 pounds.

JR 46 72%%:0013981 #A40:0 $ 5 H:F

(¢ ) 195 A crewmember interphone system is required on which airplane?
(A)A larger airplane (B)A turbojet airplane. (C)An airplane with more than 19
passenger seats.

JR 46 78%55:0013982 Aa4a:0 5 Z:+F (R20190708)

(B ) 196.At which cabin pressure altitude must oxygen be provided for all passengers
during the entire flight at those altitudes?
(A)20,000 feet. (B)13,000 feet. (C)10,000 feet.

B 4bRE%%:0013983 Aa4m:0 5 E:

(B ) 197.What is the highest flight level that operations may be conducted without the
pilot at the controls wearing and using an oxygen mask, while the other pilot
1s away from duty station?

(A)FL 240 (B)FL 250 (C)Above FL 250

B 4bRE%%:0013984 A0 5 E:

(A ) 198 A flight crewmember must be able to don and use a quick-donning oxygen mask within
(A)5 seconds. (B)10 seconds. (C)15 seconds.
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B 4bRE%%:0013980 #E4:0 #5E: 5

(A ) 199.How will the airspeed indicator react if the ram air input to the pitot head
1s blocked by ice, but the drain hole and static port are not?
(A)Indication will drop to zero. (B)Indication will rise to the top of the scale.
(C)Indication will remain constant but will increase in a climb.

Jr 4t A85%:0013986 =84a:0 5 H: 5

( A ) 200.What can a pilot expect if the pitot system ram air input and drain hole are
blocked by ice?
(A)The airspeed indicator may act as an altimeter. (B)The airspeed indicator
will show a decrease with an increase in altitude. (C)No airspeed indicator
change will occur during climbs and descents.

R a6 A85%:0013987 840 £ 5 H: 5

( ¢ ) 201, What should the deice/anti-ice fluid temperature be during the last step of a
two-phase process?
(A)Hot. (B)Warm. (C)Cold.

B 4bRE%%:0013988 Aa4m:0 5 E:

( A ) 202.Which of the following will decrease the holding time during anti-ice using a
two-step process?
(AM)Apply heated Type 2 fluid. (B)Decrease the water content. (C)Increase the
viscosity of Type 1 fluid.

B 4bRE%%:0013989 A0 5 E: P

( A ) 203.Which procedure increase holding time when deicing/anti-icing an airplane using
a two-step process
(AM)Heated Type 1 fluid followed by cold Type 2 fluid. (B)Cold Type 2 fluid
followed by hot Type 2 fluid. (C)Heated Type 1 or 2 fluid followed by cold Type
1 fluid.

R utA85%:0013990 =840:0 5 % 5

(¢ ) 204 Which is a disadvantage of the one-step over the two-step process when
deicing/anti-icing an airplane?
(A)It is more complicated. (B)The holding time is increased. (C)More fluid is
used with the one-step method when large deposits of ice and snow must be flushed
off airplane surfaces.

B 4bRE%%:0013991 A0 5 E: P

(B ) 205. What is the minimum glycol content of Type 2 deicing/anti-icing fluid?
(A)30 percent. (B)50 percent. (C)80 percent.

JR 46 72%%:0013992 #a40:0 $ 5 H: F

(¢ ) 206.What is the minimum glycol content of Type 1 deicing/anti-icing fluid?
(A)30 percent. (B)50 percent. (C)80 percent.

B 4bRE%%:0013993 A0 5 E:

19



( B ) 207.The purpose of diluting ethylene glycol deicing fluid with water in
non-precipitation conditions 1s to
(Mraise the eutectic point. (B)Decrease the freeze point. (C)increase the
minimum freezing point.

B 4b7E%2:0013994 a0 5 E: 5

(B ) 208.Snow on top of deicing or anti-icing fluid
(Mneed not be considered as adhering to the aircraft. (B)must be considered
as adhering to the aircraft. (C)must be considered as adhering to the aircraft,
but a safe takeoff can be made as it will blow off.

R utA85%:0013995 84:0 5 5 5

(¢ ) 209 Anti-icing fluid should provide freezing point protection to
(A)( -20 F ambient temperature. (B)( +32 F outside temperature or below. (C)a
freezing point no greater than 20F below the ambient or airplane surface
temperature.

a6 A85%:0013996 =84:0 5 H: 5

( B ) 210.The practice developed and accepted by the North American air carrier industry
using traditional North American fluid is to ensure that the freeze point of
the remaining film is below ambient temperature by at least
(A)(10 F. (B)(20 F. (C)(20 C.

B 478520013997 a0 55 5

( ¢ ) 211, What is the effect of Freezing Point Depressant (FPD) fluid residue on engine
fan or compressor blades?
(A)It could cause FPD vapors to enter the aircraft but would have no effect on
engine thrust or power. (B)It can increase performance and cause stall or surges.
(C)It can reduce engine performance and cause surging and/or compressor stall.

B 4b7E%2:0013998 #a4:0 5 E: 5

(B ) 212.Freezing Point Depressant (FPD) fluid used for deicing
(A)provide ice protection during flight. (B)are intended to provide ice
protection on the ground only. (C)on the ground, cause no performance
degradation during takeoff.

JrutA85%:0013999 =84:0 5 % : 5

( ¢ ) 213.The adverse effect of ice, snow, or frost on aircraft performance and flight
characteristics include decreased lift and
(A)increase thrust. (B)a decreased stall speed. (C)an increased stall speed.

R4t A85%:0014000 =848:0 35 % 5

(A ) 214.Which 1s an effect of ice, snow, or frost formation on an airplane?
(A)Increased stall speed. (B)Increased pitchdown tendencies. (C)No airspeed
indicator change will occur during climbs and descents.
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B 4b7E%%:0014001 #E4:0 52 5
(¢ ) 215, Which is an effect of ice, snow, or frost formation on an airplane?
(A)Decreased stall speed. (B)Decreased pitchup tendencies. (C)Decreased angle
of attack for stall.

B 4b7E%2:0014002 a0 52 5
(¢ ) 216.What effect, if any, landing at a higher-than-recommended touchdown speed have
on hydroplaning?
(A)No effect on hydroplaning, but increases landing roll. (B)Reduces
hydroplaning potential if heavy braking is applied. (C)Increases hydroplaning
potential regardless of braking.

FB46785%:0014003 =840 5 E: 5
(¢ ) 217.What is the best method of speed reduction if hydroplaning is experienced on
landing?
(M) Apply full main wheel braking only. (B)Apply nosewheel and main wheel braking
alternately and abruptly. (C)Apply aerodynamic braking to the fullest
advantage.

B 4b7E%2:0014004 a0 52 5

(¢ ) 218.At what minimum speed will dynamic hydroplaning begin if a tire has an air

pressure of 70 PSI?
(A)85 knots. (B)80 knots. (C)75 knots.

R4 785%:0014005 =a4a:0 5% : %5 (R20190708)

(B ) 219.At what minimum speed (rounded off) could dynamic hydroplaning occur on main

tires having a pressure of 121 PSI?
(A)90 knots. (B)96 knots. (C)110 knots.

R4t A85%:0014006 =848:0 35 5

(B ) 220.How should reverse thrust propellers be used during landing for maximum
effectiveness in stopping?
(A)Gradually increase reverse power to maximum as rollout speed decreases.
(B)Use maximum reverse power as soon as possible after touchdown. (C)Select
reverse-pitch after landing and use idle power setting of the engines.

R utA85%:0014007 284:0 £ 5 5

( A ) 221.How should thrust reversers be applied to reduce landing distance for turbojet

aircraft?
(A)Immediately after ground contact. (B)Immediately prior to touchdown.
(C)After applying maximum wheel braking.

JR 46 72%%:0014008 =840:0 $ 5 H: F

( A ) 222.What recovery would be appropriate in the event of compressor stall.
(A)Reduce fuel flow, reduce angle of attack, and increase airspeed. (B)Advance
throttle, lower angel of attack, and reduce airspeed. (C)Reduce throttle, reduce
airspeed, increase angle of attack.

21



B 4b7E%%:0014009 Aa4m:0 55+

(¢ ) 223.Which type of compressor stall has the greatest potential for severe engine
damage?
(A)Intermittent "backfire" Stall. (B)Transient "backfire" stall. (C)Steady,
continuous flow reversal stall.

JR 46 72%%:0014010 #548:0 $ 5 H: F

(A ) 224.What indication that a compressor stall has developed and become steady?
(A)Strong vibrations and loud roar. (B)Occasional loud "bang" and flow reversal.
(C)Complete loss of power with severe reduction in airspeed.

B4R %%:0014011 AE4m:0 5 E:

( ¢ ) 225.What characterizes a transient compressor stall?
(A)Loud, Steady roar accompanied by heavy shuddering. (B)Sudden loss of thrust
accompanied by a loud whine. (C)Intermittent "bang", as backfires and flow
reversals take place.

B 4bRE%2:0014012 a0 52 5

(B ) 226.Minimum specific fuel consumption of the turboprop engine is normally available
in which altitude range?
(A)10,000 feet to 25,000 feet. (B)25,000 feet to the Tropopause. (C)The
Tropopause to 45, 000 feet.

JR 46 72%5%:0014013 #840:0 $ 5 H: F

(A ) 227.What effect will an increase in altitude have upon the available equivalent shaft
horsepower (ESHP) of a turboprop engine?
(A)Lower air density and engine mass flow will cause a decrease in power.
(B)Higher propeller efficiency will cause an increase in usable power (ESHP)
and thrust. (C)power will remain the same but propeller efficiency will
decrease.

B 4b7E%2:0014014 a0 52 5

(B ) 228.Equivalent shaft horsepower (ESHP) of a turboprop engine is a measure of
(A)turbine inlet temperature. (B)shaft horsepower and jet thrust. (C)propeller
thrust only.

B 4785200140150 a0 5 E: 5
( B ) 229.The most important restriction to the operation of turbojet or turboprop engines
1S
(A)limiting compressor speed. (B)limiting exhaust gas temperature. (C)limiting
torque.

B 4b7E%2:0014016 #E4:0 52 5

( ¢ ) 230.As outside air pressure decreases, thrust output will
(A)increase due to greater efficiency of jet aircraft in thin air. (B)remain
the same since compressor of inlet air will compensate for any decrease in air
pressure. (C)decrease due to higher density altitude.

B 4bRE%2:0014017 Aa4m:0 55 P
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(A ) 231.What effect, if any, does high ambient temperature have upon the thrust output
of a turbine engine?
(A)Thrust will be reduced due to the decrease in air density. (B)Thrust remain
the same, but turbine temperature will be higher. (C)Thrust will be higher
because more heat energy is extracted from the hotter air.

JR 46 72%%:0014018 =a48:0 $ 5 H: F

(¢ ) 232.What effect would a change in ambient temperature or air density have on
gas—-turbine-engine performance?
(A)As air density decreases, thrust increases. (B)As temperature increases,
thrust increases. (C)As temperature increases, thrust decreases.

B 4b7E%2:0014019 a0 52 5

( ¢ ) 233.Which place in the turbojet engine is subjected to the highest temperature?
(A)Compressor discharge. (B)Fuel spray nozzles. (C)Turbine inlet.

R utA85%:0014020 848:0 35 5

( A ) 234 If both the ram air input and drain hole of the pitot system are blocked by ice,
what airspeed indication can be expected?
(A)No variation of indicated airspeed in level flight if large power changes
are made. (B)Decrease of indicated airspeed during a climb. (C)Constant
indicated airspeed during descent.

B 4bRE%%:0014021 A0 55+
( ¢ ) 235 Freezing Point Depressant (FPD) fluid are highly soluble in water; however,
(A)ice is slow to absorb it but fast to melt when in contact with FPD. (B)ice

absorbs it very fast but is slow to melt when in contact with it. (C)ice is slow
to absorb it, and to melt when in contact with it.

JR 46 72%5%:0014022 #540:0 $ 5 H: F

( ¢ ) 236.Freezing Point Depressant (FPD) fluid residue on engine fan or compressor blades
(A)can increase performance and cause stalls or surges. (B)could cause FPD
vapors to enter the aircraft but would have no effect on engine thrust or power.
(C)can reduce engine performance and cause surging and/or compressor stalls.

R utA85%:0014023 84:0 5 5 : 5

(b ) 237.How long shall a supplemental air carrier or commercial operator retain a record
of the manifest, airworthiness release, pilot route certification, flight
release, and flight plan?

(A1 month. (B)3 months. (C)12 months.

B 4bRE%%:0014024 A0 55+
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( A ) 238.Which airplanes are required to be equipped with a ground proximity warning glide
slope deviation alerting system?
(A)A1l turbine-powered airplanes. (B)Passenger- carrying turbine-powered
airplanes only. (C)Large turbine-powered airplanes only.

B 4bRE%%:0014025 A0 55+

( A ) 239.An airplane operated by a flag air carrier operator flying over uninhabited
terrain must carry which emergency equipment?
(A)Suitable pyrotechnic signaling devices. (B)Colored smoke flares and a signal
mirror. (C)Survival kit for each passenger.

B 4bRE%%:0014026 Aa4m:0 5 E:

( B ) 240.An airplane operated by a supplemental air carrier operator flying over
uninhabited terrain must carry which emergency equipment?
(A)Survival kit for each passenger. (B)Suitable pyrotechnic signaling devices.
(C)Colored smoke flares and a signal mirror.

B 4bRE%%:0014027 A0 55 P

( ¢ ) 241.An airplane operated by a commercial operator flying over uninhabited terrain
must carry which emergency equipment?
(A)A signal mirror and colored smoke flares. (B)Survival kit for each passenger.
(C)An approved survival-type emergency locator transmitter.

JR 46 78%55:0014028 =a4a:0 5 Z:+ (R20180823)

(¢ ) 242.What emergency equipment is required for a long range overwater flight
operation?
(A)A potable survival emergency locator transmitter for each liferaft. (B)A
pyrotechnic signaling device for each life preserve. (C)A life preserve equipped
with a survivor locator light, for each person on the airplane.

B 4bRE%%:0014029 A0 5 5+

(¢ ) 243.Life preservers required for overwater operations as stored
(A)with easy reach of each passenger. (B)under each occupant seat. (C)within
easy reach of each seated occupant.

B 4b7E%%:0014030 Aa4m:0 5 E: P

( A ) 244 How long is cockpit voice recorder and flight recorder data kept, in the event
of an accident or occurrence resulting in terminating the flight?
(A)60 days. (B)90 days. (C)30 days.

JR4672%%:0014031 Aa4:0 65 E: 5

(¢ ) 245.Who is directly responsible for determining the status of each mechanical
irregularity previously entered in the aircraft maintenance log?
(MAircraft dispatcher. (B)Line maintenance supervisor. (C)The next pilot in
command.

B 4bRE%2:0014032 a0 5 E: 5
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( A ) 246.Who is responsible for submitting a mechanical reliability report?
(A)Each certificate holder. (B)Director of maintenance at the facility that
discovers the reportable condition. (C)Chief inspector at the facility where
the condition is found.

B 4bRE%%:0014033 Aa4m:0 5 5+

( A ) 247.What is the reason for variation is geometric pitch along a propeller or rotor
blade?
(A)it permits a relatively constant angle of attack along its length when in
cruising flight. (B)it prevents the portion of the blade near the hub or root
from stalling during cruising flight. (C)it permits a relatively constant angle
of incidence along its length when in cruising flight.

JR 46 72%%:0014034 =540:0 $ 5 H: F

( A ) 248.Under normal operating conditions, which combination of MAP and RPM produce the
most severe wear, fatigue, and damage to high performance reciprocating engines?

(A)High RPM and low MAP. (B)Low RPM and high MAP. (C)High RPM and high MAP.

B 4b7E%2:0014035 a0 5 E: 5

(B ) 249.What effect does high relative humidity have upon the maximum power output of
modern aircraft engines?
(A)Neither turbojet nor reciprocating engines are affected. (B)Reciprocating
engines will experience a significant loss of BHP. (C)Turbojet engines will
experience a significant loss of thrust.

JRutA85%:0014037 848:0 5

(¢ ) 250, Test data indicated that ice, snow, or frost having a thickness and roughness
similar to medium or coarse sandpaper on the leading edge and upper surface of
a wing can
(Mreduce lift by as much as 40 percent and increase drag by 30 percent.
(B)increase drag and reduce lift by as much as 40 percent. (C)reduce lift by
as much as 30 percent and increase drag by 40 percent.

JR %6 72%%:0014038 =A40:0 $ 5 H: F

(A ) 251.Why will the EPR indication increase falsely if the P(t) probe at the engine
nose dome opening ices up?
(A)The P(t) probe vent will act as a P(s) probe. (B)Anti-ice air pressurizes
the nose dome and the vent hole causing an increase in EPR. (C)The reduced inlet
area causes pressure to increase, and magnifies the influence of ram air
pressure.

JR 46 72%%:0014039 =a40:0 $ 5 H: F

( A ) 252.Which action should be completed immediately during the start sequence if the
TIT attempts to exceed the temperature limit? Shut off the
(A) fuel. (B) starter. (C) ignition.
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B 4bRE%%:0014040 AE40:0 5 E:

(B ) 253.Which is a means of controlling the fuel temperature on turbojet-powered
airplanes?
(A)Electrically heated fuel filters. (B) Engine bleed air routed to a heat
exchanger. (C)Fuel filters heated by engine lubricating oil.

JR 46 72%%:001404]1 #840:0 $ 5 H: F

( B ) 254.Entrained water in aviation turbine fuel is a hazard because of its
susceptibility to freezing as it passes through the filters. Which is a common
method of preventing this hazard?

(A)Use of micromesh fuel strainers. (B)Use of anti-icing fuel additives.
(C)Adding deicing fluid to the fuel.

B 4bRE%%:0014042 A0 5 E:

(B ) 255.What will cause the EPR indication to decrease falsely if the P(t) probe at the
engine nose dome 1s iced closed?
(A)The P(t) probe vent will act as a P(s) probe. (B)Anti-ice air will pressurize
the nose dome and the vent hole causing a decrease in EPR. (C)The reduced inlet
area causes pressure to increase, and magnifies the influence of ram air
pressure.

B 4bRE%%:0014043 Aa4m:0 55+

(B ) 256.Which engine instrument will indicate a higher than normal reading if the
compressor has damage?
(AM)EPR. (B)EGT or TIT. (C)0il pressure.

JR 46 72%%:0014044 #548:0 $ 5 H: F

(B ) 257.What condition will cause a false, high EPR indication, in flight or on the
ground?
(A)Bleed valve stuck open. (B) Ice in the inlet pressure lines. (C) Loose turbine
discharge pressure lines.

R utA85%:0014045 =848:0 $£ 5

(B ) 258 What condition will cause a high EGT, W(f), and RPM with a normal EPR indication,
at all power settings?
(A)FOD. (B) Bleed valve stuck open. (C) Ice in the inlet pressure lines.

B4 R85%:0014046 #E4m:0 £ 5 E P
(B ) 259.Fuel heaters should not be operated on takeoff, approach, or go-around because
the
(A)EPR will decrease significantly. (B)engine may flameout from fuel
vaporization. (C)oil temperature will increase significantly as fuel
temperatures rise within the oil cooler.

B4R %%:0014047 A0 5 E: P

(B ) 260.What may result from excessive operation of the fuel heater?
(A) Increased fuel consumption. (B)Heat damage to the fuel control. (C)The fuel
filter screen may melt.
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B 4bRE%%:0014048 a0 5 E: 5

( ¢ ) 261.When should manual fuel heaters normally be operated?
(A) During takeoff, approach, or go-around. (B)When ambient temperatures are
below +32°F. (C)When the fuel temperature approaches +32°F.

B 4bRE%%:0014049 A0 55+

(A ) 262.What may result if the manual fuel heater is operated excessively?
(AM)Vapor lock. (B)A false increase in EPR. (C)A significant increase in fuel
consumption.

JR 4t A85%:0014050 =848:0 5 5

(A ) 263.What is the event sequence for the continuous combustion cycle of a turbine
engine?
(A) Intake, compression, combustion, and exhaust. (B)Intake, pressure,
combustion, and acceleration. (C)Compression, ignition, fuel, expansion and
thrust.

B 4bRE%%:00140501 AE4m:0 5 E:

( A ) 264. The purpose of the engine diffuser is to
(A) decrease the velocity and increase the static pressure of the air. (B)prevent
air piling up (choking) in the rear stages of the compressor. (C) increase the
velocity of the air going into the combustion chamber.

R utA85%:0014052 84:0 5 5

(B ) 265 In a dual axial-flow compressor system the first stage turbine drives the
(AN(1) compressor. (B)N(2) compressor. (C)N(1) and N(2) compressors.

B 4bRE%%:0014003 Aa4m:0 5 E: F

(B ) 266.Which difference does engine pressure ratio measure?
(A)Uncorrected compressor inlet pressure and turbine discharge pressure.
(B)Compressor inlet total pressure corrected for inlet duct loss and turbine
discharge total pressure. (C) Compressor outlet total pressure corrected for
temperature and turbine discharge total pressure.

JR 46 72%%:0014054 #R40:0 ¥ 5 H: F

( B ) 267.During starting, what should prevent the engine from driving a pneumatic starter
to burst speed?
(A) Drive shaft shear point. (B) Sprag clutch assembly. (C) Design of the starter
turbine nozzle vanes which causes choking.

Jr 4t A85%:0014055 #84:0 .5 5

(B ) 268.During engine start, closing of the start air valve may be verified by
(A) engine RPM stabilizing at idle. (B) air manifold pressure increasing
slightly. (C)air manifold pressure decreasing slightly.

JR %6 72%%:0014056 =A40:0 5 H:F
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(A ) 269.Why are pneumatic starters used on most large turbine engines?
(A) Less weight. (B)Simple design requires no clutch. (C)Air starters are
mechanically more reliable than electrical starters.

JRutA85%:0014057 =848:0 $E 5

( ¢ ) 270.How does compressor RPM affect the power output of a turbofan engine?
(A) Power increases linearly with an increase in compressor speed. (B)
Efficiency increases when compressor blade tips reach Mach 1 or slightly higher.
(C) Compressor aerodynamics cause a nonlinear increase in power relative to
compressor speed.

B 4bRE%%:00140508 Aa4m:0 5 E: P

(B ) 271.Which location has the highest gas pressure in a turbine engine?
(A)Turbine outlet. (B)Compressor outlet. (C) Combustion chamber outlet.

JR %6 72%%:0014059 #a40:0 ¥ 5 H: F

(B ) 212.Which is the most critical parameter for a turbine engine during starting?
(A)0il pressure. (B) EGT. (C)Starter engagement time.

B 4b7E%%:0014060 #a4m:0 5 E:

( A ) 273.Why should turbine engines normally be operated at idle for a period of time
before shutdown?
(A)The turbine case cools faster and may shrink down and seize the turbine blades
(B) Rapid cooling of the compressor section may cause cracking of compressor
blades. (C)Temperature reduction and stabilization prevents a hot combustion
chamber from igniting residual fuel.

a6 A85%:001406]1 =848:0 5 % : 5

( A ) 274.The speed (RPM or percent) of the low pressure compressor of a dual compressor
engine is referred to as

(A) NCD). (BN(2). (CON(3).

B 4bRE%%:0014062 Aa4m:0 5 E:

( A ) 275.The two basic elements of the turbine section of a turbine engine are the
(A) rotor and stator. (B) bucket and expander. (C) impeller and diffuser.

B 4bRE%%:0014063 Aa4m:0 5 E:

( B ) 216. The purpose of the diffuser section in a turbine engine is to
(A)convert pressure to velocity. (B) increase pressure and reduce velocity.
(C)reduce pressure and increase velocity.

B 4b7E%%:0014064 Aa4m:0 5 E: F

( ¢ ) 21.Which is the main advantage of an APU’ s centrifugal flow compressor?
(MHigh-pressure rise per stage. (B) Low starting power requirements.
(C)Shorter than an axial compressor.
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B4R %%:0014060 #E4:0 5 E: 5

(¢ ) 218.Dirty compressor blades may result in
(A)low RPM. (B)low EGT. (C)high EGT.

JR 46 72%%:0014066 =a40:0 5 H: F

(B ) 219. If a turbine engine catches fire internally during the start cycle, what initial
action should be taken?
(A)Secure all switches and leave the airplane. (B) Shut off the fuel and continue
motoring the starter. (C)Discharge CO(2) into the inlet duct while continuing
to motor the engine.

B 478520014067 a0 #4555
(B ) 280.What is the proper start sequence for a turbine engine?
(A) Ignition, starter, then fuel. (B)Starter, ignition, then fuel. (C)Starter,
fuel, then ignition.

JR 46 72%%:0014068 =a40:0 ¥ 5 H:F

(A ) 281.While starting a turbine engine with an air starter, a hung start occurs before
the starter disengages. Which procedure is correct?
(A)Shut down the engine. (B)Increase the air velocity to the starter. (C)Slowly
increase the power lever until the engine accelerates to idle.

B 4b7E%%:0014069 Aa4m:0 5 E: P

(A ) 282.What will happen if the oil filter on the engine becomes clogged?
(A)The oil screen bypass will open and unfiltered oil will go directly to the
engine. (B)The oil pressure increase will cause the oil to bypass the primary
filter and flow through the secondary filter. (C)The oil will bypass the filter
and flow to the hopper tank where carbon sludge and dirt particles are then
collected before flowing to the engine.

B4R %%:0014070 AE4m:0 5 E: P

(B ) 283.What type of oxygen system is used for passengers?
(A) Demand. (B)Constant-flow. (C) Diluter-demand.

B4R %%:0014071 A0 5 E: P

(¢ ) 284, Which type of oxygen system 1s the flight deck equipped with normally?
(A) Constant-flow. (B)Phase dilution. (C)Diluter-demand.

B4 R85%:0014072 #2400 £ 5K 5
(B ) 285.Which temperature indicator, without applying a correction factor, predicates
operation of in-flight engine anti-icing?
(A)Ram air temperature (RAT). (B)Total air temperature (TAT). (C) Outside air
temperature (OAT).

JR 46 72%%:0014073 #R40:0 $ 5 H: F

(¢ ) 286.What is the most prevalent condition for engine icing?
(A)High-engine speed in flight. (B) Low-engine speed on the ground.
(C)High-engine speed on the ground.

B 4bRE%2:0014074 a0 5 E: 5
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(B ) 287.When may rain repellent be applied to a windshield?
(A) Prior to entering rain. (B) After it starts raining. (C)Whenever the
windshield is dirty.

R utA85%:0014075 =848:0 $E 5

(¢ ) 288.Which is a reason for heating cockpit windows?
(A) Deicing. (B)Prevent thermal shock. (C)Bird-impact protection.

B 4b7E%%:0014076 a0 #5E: 5

( ¢ ) 289.What should the deice/anti-ice fluid temperature be during the last step of a
two-phase process?
(MHot. (B)Warm. (C)Cold.

78550014077 Ra4:0 5% 5 (R20180823)

(B ) 290.What should the temperature be for deicing fluid dispensed by a ground unit
during a one-phase process?
(A)Cold. (B)Heated. (C)Same as ambient.

JR 46 72%%:0014078 RA4:0 $ 5 H: F

(A ) 291.Which 1s an advantage of a one-step over a two-step process when
deicing/anti-icing an airplane?
(A1t is quicker. (B)The holding time is minimized. (C) Less fluid is used with
the one-step method when large deposits of ice and snow must be flushed off the
airplane surfaces.

B4R %%:0014079 A0 5 E: P

(¢ ) 292.Which is a disadvantage of the one-step over the two-step process when
deicing/anti-icing an airplane?
(A)It is more complicated. (B)The holding time is increased. (C)More fluid is
used with the one-step method when large deposits of ice and snow must be flushed
off airplane surfaces.

JR 4t A85%:0014080 =84a:0 5 H: 5

(¢ ) 293.A turbojet aircraft is equipped with heated inlet ducts and airfoil leading edges
When is this type of anti-icing system usually activated during flight?
(A) It is operated continuously while in flight. (B)At all times when the OAT
is below freezing. (C)Whenever icing conditions are first encountered or are
expected to occur.

JR 46 72%%:0014081 =A40:0 $ 5 H: F

(¢ ) 294, Which statement is correct when applying liquid rain repellent?
(A) Begin application as soon as rain begins, to form a barrier between the rain
and the windshield. (B) Apply rain repellent first, then activate the windshield
wipers to spread the repellent. (C)The number of times the repellent is applied
1s determined by the intensity of the rain.

R utA85%:0014082 =848:0 $£ 5
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(¢ ) 295. What safeguard should be taken when using mobile ground deice/anti-ice
equipment?
(A) Open the air-conditioning pack valves. (B)Operate the airplane engines above
idle to prevent flameout. (C) Apply fluid to the lower door sills and the door
bottoms prior to closing for flight.

R4t A85%:0014083 =84a:0 5 H: 5

( ¢ ) 296.When the cabin pressure regulator is operating in the differential mode,
reference pressure is vented to the atmosphere by the
(Mrelief valve. (B) isobaric metering valve. (C)differential metering valve.

JR 46 72%%:0014084 #a40:0 ¥ 5 H: F

(B ) 297.In a pressurized system, what is the purpose of the dump valve?
(A) Relieve a negative pressure differential. (B) Relieve all positive pressure
from the cabin. (C) Relieve any pressure in excess of maximum cabin differential.

R utA85%:0014085 =848:0 5

( B ) 298.The cabin pressure control setting has a direct effect upon the
(A) compressor speed. (B)outflow valve opening. (C) pneumatic system pressure.

R it A85%:0014086 =84a:0 5 H: 5

(B ) 299.Which component of an airplane pressurization system prevents the cabin altitude
from becoming higher than the airplane altitude?
(A)Cabin rate of descent control. (B)Negative pressure relief valve. (C)
Compression ratio limit switch.

a6 A85%:0014087 84:0 5 H: 5

(B ) 300.If the cabin rate of climb is too great, how should the pressurization controls
be adjusted?
(A)Open the outflow valve slower. (B)Close the outflow valve faster. (C)Increase
the amount of incoming air.

JR %6 72%%:0014088 #a40:0 5 H: F

(B ) 301.How is cabin pressurization controlled?
(A) The pressure valve regulates the air output of the compressor. (B) The
outflow valve dumps all air pressure in excess of the amount for which 1t 1s
set. (C)The inflow valve limits the amount of air to the cabin when a pressure
equivalent to cabin altitude has been reached.

B 4bRE%%:0014089 a0 5 E: 5

( A ) 302.Which best describes cabin differential pressure?
(A) The difference between ambient and internal air pressure. (B)The difference
between the cabin flight altitude pressure and MSL pressure. (C)The difference
between the cabin pressure controller setting and the actual cabin pressure.
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B 4b7E%%:0014090 a0 5 E: 5
( ¢ ) 303. Which component gives an indication of the rate of change in cabin altitude and
what unit of measurement is used?
(A)Pressure controller, PSI. (B)Cabin vertical-velocity indicator, PSI.
(C)Cabin vertical-velocity indicator, feet per minute.

R utA85%:001409]1 =84:0 5 5 5

(B ) 304.Which section of a turbine engine provides air for the pressurization and
air-conditioning systems?
(A) Intake. (B)Compressor. (C) Combustion.

B 4bRE%%:0014092 A0 55 F

( A ) 305. Which component of an air-cycle cooling system undergoes a pressure and
temperature drop of air during operation?
(A)Expansion turbine. (B) Primary heat exchanger. (C)Refrigeration bypass
valve.

B 4bRE%%:0014093 Aa4m:0 55+

( ¢ ) 306, Which components make up the basic air-cycle cooling system?
(AM)Heaters, coolers, and compressor. (B)Ram air source, compressors, and engine
bleeds. (C)A source of compressed air, heat exchangers, and a turbine.

R utA85%:0014094 =84:0 5 5 5

( B ) 307.The air-cycle cooling system produces cold air by
(A) passing heated air through a compressor. (B)passing air through an expansion
turbine and extracting heat energy. (C)passing air through cooling coils that
contain a volume of refrigerant.

R atA85%:0014095 =848:0 $£ 5

(B ) 308.Which cabin air-conditioning system utilizes a refrigerant to carry away cabin
heat?
(AM)Air cycle (B)Vapor cycle. (C) Evaporative blower.

B 4bRE%%:0014096 Aa4m:0 5 E: P

( A ) 309.Which control systems for operating cabin pressurization use reference chamber
air pressure within the controller to regulate the outflow valve?
(A) Isobaric and differential. (B)Unpressurized and pressurized controls.
(C)Ambient, differential, and maximum differential.

R utA85%:0014097 8480 5

(B ) 310.What type of electrolyte is contained in a lead-acid battery?
(A)Boric acid. (B)Sulfuric acid. (C)Potassium hydroxide.

B 4bRE%%:0014098 Aa4m:0 5 5+
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( B ) 311.What are the characteristics of the electrolyte in a nickel-cadmium battery?
(AM)Noncorrosive. (B)Much like household lye and will cause severe burns.
(C)Harmless compared to the electrolyte in a lead-acid battery.

B 4bRE%%:0014099 A0 55 P

(¢ ) 312.What will neutralize the electrolyte from a nickel-cadmium battery?
(A)Soap and water. (B)Bicarbonate of soda. (C)A solution of boric acid, vinegar,
lemon juice, or some other mildly acid solution.

JR 46 72%%:0014100 =540:0 $ 5 H: F

(¢ ) 313.What is the purpose of a fuse-type current limiter?
(A) Prevent overloads in low power circuits. (B)Fast blow design prevents damage
to sensitive circuits or equipment. (C)Permit short periods of overload before
the fuse link melts and breaks the circuit.

JR 46 72%%:0014101 =R40:0 $£ 5 H: F

(¢ ) 314.What is a purpose of enclosing wires or electrical units in metal?
(A) Eliminates ground wires. (B)Prevents the buildup of static discharges.
(C)Eliminates interference with radio reception.

JR 46 72%%:0014102 #540:0 $ 5 H . F

(¢ ) 315.What 1s residual voltage?
(A)Voltage produced that is not in phase with the current. (B)Voltage stored
in the generator exciter output windings. (C)Voltage produced by permanent
magnets which starts the ac generator output.

JR 46 72%%:0014103 #840:0 $ 5 H: F

(B ) 316.What is the difference between a relay and a solenoid?
(A)Relays have movable cores. (B) Solenoids have movable cores. (C)Relays are
used as mechanical control devices.

B 4b7E%2:0014104 a0 52 5

( A ) 317.What is the purpose of an electrical relay?
(A)Controls remote, high current equipment items with a small switch. (B)
Prevents static buildup by connecting shock mounted equipment to ground.
(C)Engages starter gears, moves locking pins or other mechanical control
devices.

B 4bRE%%:0014100 Aa4m:0 55+

(¢ ) 318.What is an advantage of using 115 volts, 400-Hz alternating current?
(A)The AC voltage may be changed easily by the use of rectifiers which reduces
wire size and weight. (B) Inductive reactance at high frequency increases
current and more efficient power transmission. (C)High-voltage AC motors are
smaller and lighter than equivalent DC-powered motors.

R utA85%:0014106 =848:0 5
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(B ) 319.Why is it important that all electrical loads and power sources be turned off
before connecting or disconnecting the battery?
(A)To prevent discharging the battery. (B)To prevent a spark from igniting
explosive gas. (C) To prevent power surges from spiking sensitive equipment.

R utA85%:0014107 #84:0 £ 5 5

(B ) 320.What is the name for the visible discharge of static electricity from the
airplane into the air?
(A)Corona threshold. (B)Saint Elmo’ s fire. (C)Precipitation static.

B 4b7E%2:0014108 #E4:0 5 2 5

( ¢ ) 321.If the airplane is equipped with a battery rated to deliver 45 amperes for 2.5
hours, what is the ampere-hour rating?
(A)90. 0 ampere-hour. (B)18.0 ampere-hour. (C)112.5 ampere-hour.

R utA85%:0014109 =84:0 £ 5 5 5

(¢ ) 322 Aircraft fuse capacities are rated in
(A)volts. (B)watts. (C)amperes.

47520014110 a0 52 5

( A ) 323 In aircraft electrical systems, automatic reset circuit breakers
(A)are not used as circuit protective devices. (B)are used in all circuits
essential to safe operation of the aircraft. (C) are found in locations where
only temporary overloads are encountered.

478520014111 a0 52 5

(A ) 324.What is an electrical relay?
(A)A magnetically operated switch. (B)A device used to increase, or step-up
voltage. (C)A conductor which receives electrical energy and passes it on with
little or no resistance.

B4R %2:0014112 4.0 52 5

(B ) 325.How are electrical generators rated?
(A)Watts at rated voltage. (B)Amperes at rated voltage. (C) Voltage at rated
amperes.

B4R %2:0014113 a0 52 5

(B ) 326.What unit of power is used in dc electrical circuits?
(A)Volts. (B) Watts. (C)Amperes.

B 4bRE%2:0014114 A0 55+

(B ) 327.What is the function of the circuit breaker in the instrument lighting system?
(A)Protects the lights from too much current. (B)Protects the wiring from too
much current. (C)Prevents excessive voltage from reaching the wiring.

B 4bRE%%:0014115 Aa4m:0 55+
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( A ) 328.Which are protective functions of an ac generator control unit?
(A)Open phase, underexcitation, and overvoltage. (B)Undervoltage, differential
fault, and manual paralleling. (C)Generator underspeed and bus-tie
circuit-breaker automatic closing.

B 4bRE%%:0014116 Aa4m:0 5 E:

(B ) 329.Which is a feature of a parallel bus electrical system?
(A) External power may be paralleled with operating generators. (B) The
electrical load is automatically redistributed when one generator fails. (C)
Each generator supplies power separately from the other generators to i1ts
respective bus.

R utAa5%: 0014117 #8480 £ 5 5

( A ) 330.Which is a purpose of a transformer rectifier?
(A) Converts 115 volts ac, 400-Hz to 28 volts dc. (B)Changes dc to alternating
26 volts or 115 volts, 400-Hz power. (C)Operates emergency flight instruments
and radios from the airplane battery.

R utA85%:0014118 =848:0 5 5

( ¢ ) 331.What is the approximate nominal voltage rating of a fully charged nickel-cadmium
battery containing twenty cells?
(A) 12 volts. (B) 20 volts. (C)25 volts.

R4 725%:0014119 =a40:0 g5 H . F

(B ) 332.Why is it necessary to periodically completely discharge and recharge a
nickel-cadmium battery?
(A)To restore electrolyte levels. (B)To eliminate cell imbalance and loss of
capacity. (C)To dissolve nickel oxide formations on positive cells to restore
capacity.

B4R %%:0014120 Aa4m:0 5 E:
(¢ ) 333.What causes cell imbalance in a nickel-cadmium battery?
(A)Low temperatures. (B) Deep rapid discharges. (C) Constant-potential (voltage
charging.
B4sR85%:0014121 RE4n:0 £ 5 E P

( ¢ ) 334.The purpose of a constant speed drive for an ac generator is to
(Mcontrol field strength. (B)regulate generator voltage. (C)maintain a uniform
frequency.

R utA85%:0014122 2840 £ 5 52 5

(B ) 33.What speed does a frequency meter give a direct indication of?
(A) Engine N(2). (B) Generator RPM. (C)CSD input speed.

R utA85%:0014123 840 £ 5 5 5

( ¢ ) 336 How are airplane ac generators rated?
(A) Volts. (B)Kilowatts (KW). (C)Kilovolt-amps (KVA).

B dbRE%%:0014124 A0 55+
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(B ) 337.What is a purpose of a rotary inverter?
(A) Change 115 volts ac to 28 volts dc. (B) Convert dc to 115 volts, 400-Hz power.
(C) Transform 26/29 volts dc to 115/200 volts dc.

R utA85%:0014125 840 5 5

( ¢ ) 338.The purpose of a reverse-current relay is to
(A)prevent one generator from driving another generator. (B) increase or
decrease the voltage of a generator so it carries its share. (C)disconnect the
generator from the main bus when generator voltage drops below battery voltage.

B 4bRE%2:0014126 a0 52 5

(B ) 339.What is the nominal voltage rating of a fully charged lead-acid battery
containing six cells?
(A) 6 volts. (B) 12 volts. (C)24 volts.

bR %2:0014127 AEwm:.0 55 5

( A ) 340.The purpose of fusible plugs in the wheel is to prevent
(A)tire blowout. (B)overservicing the tire. (C)damage to the tire resulting from
heat expansion.

R utA85%:0014128 =84:0 5 5

(B ) 341.What tread wear will occur if tires are under-inflated?
(A)Uniform wear at a fast rate. (B)Tread worn away more on the shoulders than
in the center. (C)Accelerated centerline wear while leaving rubber on the
shoulder.

R utA85%:0014129 84:0 5 5 : 5

(¢ ) 342.What tread wear will occur if tires are over-inflated?
(A)Uniform wear at a slow rate. (B)Tread worn away more on the shoulders than
in the center. (C)Accelerated centerline wear while leaving rubber on the
shoulder.

B 4bRE%%:0014130 Aa4m:0 5 E:

( ¢ ) 343. Where should the chines be located for a dual nosewheel installation?
(A)One on each side of the tires. (B)On the inside of the tires only. (C)On the
outside of the tires only.

JR 46 72%%:0014131 #840:0 $& 5 H: F

( ¢ ) 344.The purpose of chines on tires is to
(A) increase traction on snow or ice covered runways. (B)reduce the tendency
to hydroplane on wet runways. (C) deflect water or slush away from the engine
intakes.

JFRutA85%:0014132 840 £ 5 5

(¢ ) 345.Which of the following are considered primary flight controls?
(AM)Tabs. (B)Flaps. (C)Outboard ailerons.

B 4bRE%%:0014133 a0 5 E: 5
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(B ) 346.Which of the following is considered a secondary flight control?
(A)Rudder. (B)Servo tab. (C)Inboard aileron.

B4R %2:0014134 a0 52 5

( ¢ ) 347.Which direction from the primary control surface does an elevator adjustable
trim tab move when the control surface is moved?
(A)Same direction. (B) Opposite direction. (C)Remains fixed for all positions.

R utA85%:0014135 #84:0 £ 5 : 5

( A ) 348.What direction should the ailerons move when the control wheel 1s moved?
(A)Left aileron down when the control wheel is moved right. (B) Right aileron
up when the control wheel is moved left. (C)Left aileron down when the control
wheel 1s moved left.

R utA85%:0014136 =84:0 5 5

(A ) 349.A purpose of leading edge flaps is to
(A) increase the camber of the wing. (B) reduce lift without increasing airspeed.
(C) direct airflow over the top of the wing at high angles of attack.

R utA85%:0014137 840 £ 5 5 5

(B ) 350. A purpose of flight spoilers is to
(A) increase the camber of the wing. (B)reduce 1ift without increasing airspeed.
(C) direct airflow over the top of the wing at high angles of attack.

R utA85%:0014138 =84:0 £ 5 H: 5

( A ) 351.A purpose of ground spoilers is to
(Mreduce the wing’s lift upon landing. (B) aid in rolling an airplane into a
turn. (C)increase the rate of descent without gaining airspeed.

JR 46 725%:0014139 #a40:0 $ 5 H: F

( A ) 352.A purpose of wing mounted vortex generators is to
(A)prevent shock induced separation of air from the wing. (B)increase the onset
of drag divergence and aid in aileron effectiveness at high speed. (C) break
the airflow over the wing so the stall will progress from the root out to the
tip of the wing.

B 4bRE%%:0014140 Aa40:0 5 5+

(A ) 353.What is a disadvantage of wing mounted vortex generators?
(A)Drag is increased slightly at slow airspeeds. (B)Parasite drag increases
significantly at high airspeeds. (C)Shock induced flow separation from vortex
generators increases control surface buffet.

B4R %2:0014141 A0 55+
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(A ) 354.What is a disadvantage of a stabilizer and elevator located at the top of the
vertical fin?
(MHeavier structure. (B) Undesirable spin characteristics. (C)Less effective
fin and rudder due to the end plate action of the stabilizer location.

B4 R85% 0014142 #Ea4:.0 £ 5K 5
( ¢ ) 35.An advantage of a stabilizer and elevator located at the top of the vertical
fin 1s that
(A) the structural weight is decreased. (B) the cruise speed is more fuel
efficient. (C)the horizontal tail is above the wing turbulence.

B4 R85 0014143 #Ea4n:0 £ 5 K 5
(B ) 356.What action should be taken 1f a hydraulic stationary connection has a static
leak?
(A)Reduce the accumulator pressure. (B)Notify maintenance to repair it.
(C)Pressurize the system and perform an operational check.

R4 725%:0014144 #548:0 $£ 5 H . F

( B ) 357.An advantage of Skydrol is that it
(A)is resistant to water contamination. (B) has a wide operating temperature
range. (C) is compatible with vegetable-base hydraulic fluid.

JRutA85%:0014145 =848:0 $£ 5

(¢ ) 358 A disadvantage of Skydrol is that
(A) it is incompatible with synthetic-base fluid. (B)sustained operations
below -40°C should be avoided. (C) it will break down the insulation on some
electrical wiring.

B 4bRE%%:0014146 A0 55+

( A ) 359.The purpose of a bypass valve in the hydraulic filter is to
(A) bypass a clogged element. (B)maintain the desired temperature and viscosity
by controlling the amount of fluid through the unit. (C) ensure adequate flow
when the engines are started until the fluid is warmed sufficiently to flow
freely.

R utA85%:0014147 2840 55 5

( ¢ ) 360.What action should be taken in case of eye contact with any hydraulic fluid?
(AM)Apply an aesthetic eye dressing. (B)Flush thoroughly with soap and water.
(C)Flush with water and consult a doctor.

JRutA85%:0014148 =840 £ 5 5

(B ) 361.What should be used to remove Skydrol from your skin?
(A)Solvent. (B)Soap and water. (C)Trichlorethylene.

JR 46 725%:0014149 #a40:0 $ 5 H . F
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( A ) 362.The purpose of a hydraulic accumulator is to
(A)store hydraulic fluid under pressure. (B)collect hydraulic fluid from system
leaks. (C) gather foam and extract the air before returning it to the reservoir.

B 4bRE%%:0014150 a0 5 E: 5

( A ) 363.What type of gas may be used to service hydraulic accumulators?
(A)Nitrogen. (B)Dry oxygen. (C)Carbon dioxide.

R utA85%:001415]1 =84:0 5 5 : 5

( ¢ ) 364.Which principle operates a hydraulic fuse?
(AMHeat. (B) Electrical. (C)Differential pressure.

B8 5%:0014152 Ra4:.0 5 E: 5
( B ) 365.The purpose of pressurizing a hydraulic reservoir is to
(A)provide an alternate source of pressure in case of a hydraulic pump failure.
(B)assure a positive feed of foam free fluid to the hydraulic pump at high
altitudes. (C) insure an adequate supply of fluid to the hydraulic pump inlet
during negative-G flight.

B 4bRE%2:0014153 a0 5 E: 5

(¢ ) 366, Why should hydraulic fluid be filtered?
(MVWater in the fluid could freeze. (B) It assures a positive feed of foam free
fluid to the hydraulic pump inlet. (C)Contaminants may damage the seals and
cylinder walls causing internal leakage.

B 4bRE%%:0014154 A0 5 E:

( A ) 367.An advantage of a piston-type accumulator is that it
(A)takes up less area than a sphere-type accumulator. (B) may be used with higher
pressure than a bladder—-type accumulator. (C)can store more hydraulic fluid than
a diaphragm-type accumulator.

JRutA85%:0014155 =848:0 $£ 5

(¢ ) 368.What is the difference between a hydraulic sequence valve and a priority valve?
(A) Sequence valves are electrically actuated. (B) Mechanical contact opens a
priority valve. (C)Priority valves are opened by hydraulic pressure.

B 4bRE%%:0014156 Aa4m:0 5 E:

( A ) 369.Which principle operates a hydraulic fuse?
(A)Quantity of flow. (B)Thermal increase. (C)Pressure increase.

B 4bRE%%:0014157 A0 5 E: P

( B ) 370.0ne purpose of a hydraulic accumulator is to
(A) compress hydraulic fluid. (B)absorb sudden pressure surges. (C) store
hydraulic fluid from small system leaks.

B 4bRE%%:0014158 Aa4m:0 5 E:
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( ¢ ) 371.Which hydraulic operation normally uses a double-acting, balanced linear
actuator?
(A)Brakes. (B)Landing gear. (C) Automatic pilot servo.

JR 46 72%%:0014159 #a40:0 $ 5 H: F

( ¢ ) 372.Why should synthetic hydraulic fluid be stored in an airtight container?
(A)High evaporation rate. (B)Vapor is extremely toxic. (C) Atmospheric moisture
contamination.

JR 46 72%%:0014160 =848:0 $ 5 H: F

(B ) 373.How may pressure from an engine-driven hydraulic pump be regulated?
(A)Constant speed drive. (B)Variable-displacement pump. (C) In-line variable
restrictor orifice.

B 4bRE%%:0014161 Aa4m:0 5 E:

( B ) 374.The purpose of the antiskid system control box is to
(A) sense wheel speed change. (B)prevent landing with the brakes applied.
(C)meter the brake pressure to prevent stoppage of wheel rotation.

B 4bRE%%:0014162 Aa4m:0 5 E:

( A ) 375.Pressure from an engine-driven hydraulic pump may be regulated by a
(A) system bypass valve. (B)constant speed drive. (C)in-line variable
restrictor orifice.

B 4b7E%2:0014163 a0 #4525

( A ) 376.Moisture in a pneumatic system may cause
(A)corrosion. (B) a variety of sounds including banging, squealing and
chattering. (C)return lines to freeze when the pressure of the air drops during
actuation.

B 4bRE%2:0014164 a0 52 5

( A ) 377.What type of gas is normally used to service the air-storage bottles of an
emergency pneumatic system?
(A) Nitrogen. (B)Dry oxygen. (C)Carbon dioxide.

4678 5%:0014165 =840 5 E: 5
(¢ ) 318.What safety device is actuated by the compression and extension of a landing
gear strut?
(A) Uplock switch. (B)Downlock switch. (C)Ground safety switch.
FB46785%:0014166 =a4:.0 25 E: 5

( A ) 379. The purpose of fusible plugs in aircraft wheels is to
(A)prevent tire blowouts. (B) quickly deflate tires for repair. (C)protect the
antiskid electrical system.

B 4bRE%%:0014167 A0 5 E: P
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( B ) 380.0ne of the main gear tires has deflated as a result of a thermal fuse melt. What
does this mean?
(A) Heavy braking has overheated the wheel, melted a plastic fuse in the rim,
and prevented the danger of a tire blowout. (B) High tire temperatures have
melted a fusible metal plug installed in the aircraft wheel and caused the tire
to deflate. (C)High temperatures in the wheel well have caused the tire’s
temperature sensitive valve core to melt, deflated the tire, and prevented
damage to the wing.
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